FrRAI—

ERQUlBGEF v XI—

@ THUMBSCREW SWIVEL CASTERS
RUBBEEF v RYI—
SCREW SWIVEL CASTERS

o KA1SEA-KATSARR M v/ i-ICEDEREA y FUBELET.

o K-420AEK-415AIMEAE TRRATEE7,

o BRCATEROMERVBRNENET,

o IFBTIEICEN, T AICLLNE L, DB <, 18
BHODBRNIS R FY—E (TP EMENE LTz,

© K-415EA and K-415A use stopper to positively lock the wheel.

© K-420A and K-415A can be used together.

® Select wheel material and diameter according to your application.

* Elastomer wheels (TP) have been added. Elastomer exhibits
low material flow and is harder than rubber, so wheels do
not tend to flex, and overcome rolling resistance effortlessly.

oty H:
A/ B EIESHR (SPCO)
i/ TLR - FIOVN)-ILIVUR  zpomn

ISARNY—(TP) KHs
o KM E:
K-415EA-75-R K-415A-75-R MRS DO L8~ (MECH ——
felEUK-420A8 R ¢32(3FintH> =T F—h
(K-415EA-K-420EA] (K-415A-K-420A] O X— L (MFZn-O) b
off B m:7\EFvh ey

A o AR PRIDME - (RS- DT> "
T - BER - - MMBHAE S0 b

Ovo
BN o B2 32(CIFR b v/ S —fHEB D EE Ao O
o BREEEEROEREA N v/ {-ETRLES, — AFTE
*K-415A-K-420AGM12(EyF1.25)- L=
W3,/891 755D &Y ($32%H <),
* SAEIRUNF(1=7 7 (#8) LR % T,
* K-415A-40-R/K-420A-32-R/K-420A-
40-RIFPIERCRD FE LT,

<
Hz
=z
Ha)

/J ® Material:
‘ Main body: Cold rolled steel plate (SPCC)
F = e Wheel: Rubber (R), nylon (N), urethane (UR), or elastomer(TP)
. 3 . a T Pt_ @ Finish: Main body: Chrome plating (MFCr)
! a e DN SLEIEH  However, K-420A with wheel diameter of ¢32:
Zinc plating chromate treatment (MFZn-C)
® Accessories: Hex nut
L L ® Large or middle-sized equipment, benches and wagons
HEMES @ No stopper is available for wheel diameter of ¢32.
© Mass shows the unit with stopper except for wheel diameter of ¢32.
HERPOWIIHEICL > TRBOET, o :CVHZK (ﬂt&f{ of c} -'gi)zaorf (W3/8 e aqvﬁa;lzable
i ; ial. or K- and K- except for $32).
RIW?in the table differs with material © SAE has same dimensions as UNF (unified fine t%read).
RoHS SFEEEN BREE(g) myN 10 Loy
wr O 3z Ll ® = Eg Allowable load I:ul:l\/la?s 2 Rubber—usedi\;vheel Nzi)n-used wiﬁl U%haneﬁedw%e\
Product No R [NE[URE|pt | @D | Hi | Hz | L | W M g RE[NSURE| RE [NE[WRE| o | q_p | g_p
Rused | Nased | Urued s |Feused | Nsed | URused| Reused! | Nused | URused| 0 4 Code Code
wheel | wheel | uhee wheel | wheel | wheel | wheel | wheel | wheel
(I 2K J 50 | 68 | 35 | 21 | 20 | M12X1.75 | 58 |300|400/400| 250|200|210( 30188 30194 30771
( 3K J 2hyie 65 | 85 | 35|24 | 21 | M12X1.75 | 62 |300 400 300250 30189 30195
(2K J : 75|95 | 35|29 |21 |M12X1.75| 68 |400|500 350|300 30190 30196
[ AN BN J stY)Vither 100|126 40 | 32 | 27 | M16X2.0 | 83 |500|600|600| 750|550|600| 30191 30197 30210
( AN BN J PP 1251152| 40 | 39 | 27 | M16X2.0 |103|600|700|700| 900|650|700| 30192 30198 30211
([ J 150179| 40 | 42 | 27 | M16X2.0 | 118|600 1,200 30193
([ JK 2K J 50 | 68 | 35 | 21 | 20 | M12X1.75| 47 |300|400|400| 250|200(210| 30290 30296 30773
[ AN ) o 65 | 85| 35|24 | 21 | M12X1.75| 58 | 300|400 300|250 30291 30297
[ AN ) wL | 7595 (35|29 |21 | M12X1.75| 68 |400| 500 350|300 30292 30298
® o o gghogrt 100(126| 40 | 32 | 27 | M16X2.0 | 83 |500|600|600| 750|550|600| 30293 30299 30312
® o o PP 125]152| 40 | 39 | 27 | M16X2.0 |103|600|700|700| 900|650|700( 30294 30300 30313
([ J 150179| 40 | 42 | 27 | M16X2.0 | 118|600 1,200 30295
el SFEmEN HREE(9) OLE FTAOVE [ISAMY-E
ERES ® = M v Allowable load Mass Rubber-used wheel { Nylon-used wheel | Elastomer-used wheel
Product No. .Trpﬁ Remarks | @[ H1| Hz| L | W (UNF) | Slewing RREd bl\lid T-l';P?d RREd NNid T-Epid e ey J-—Kr
Pt [t e iR e e C T Code Code Code
wheel wheel | wheel | wheel | wheel | wheel | wheel
[ J 38 (59| 14|20 |17 |SAEV4X20WL| 51 250 144 932032
([ J AbyN—| 40|60 | 14|20 | 17 |SAEV4X20W| 51 300 120 30156
oo . |50 68 14| 21 20|SAEL5x20W| 58 [300(400 ~|210180 30153 | 30157
( B J stopper | 65 | 85 | 14 | 24 | 21 | SAEV4X20LL| 62 |300|400 270|200 30154 30158
[ AN ) 75|95|14]29|21|SAEV4X20LL| 68 [400|500 310|230 30155 30159
[ AN ) 32 (47 | 14|12 | 14 |SAE34X24ll| 29 200|150 50| 59 30256 32033
[ J 2kl 38 (59| 14|20 |17 |SAEV4X20WL| 41 250 137 932034
([ J #L |40|60| 14|20 |17 |SAEV/:X20W| 41 300 120 30257
[ AN ) gghog: 50|68 |14 |21|20|SAE,X20W| 47 |300|400 210|180 30253 30258
[ AN ) P 65|85 | 14| 24|21 |SAE/,X20WL| 58 |300|400 270|200 30254 30259
( JKJ 75|95|14|29| 21 |SAE/4X20WL| 68 |400|500 310|230 30255 30260

@ :ROHS10EDNE A : RoHS10ERICTHISTEETT,



